## **Bid Proof**

Bid Number: 10008105-10-E

**Bid Title:** Various Lubricating Oils

	ALT1 - SOUTHERN COUNTIES LUBRICANTS Vendor ID: ALT1-TEMP-SO				Days ARO: Opt To Renew Pct. (%	1-2 ): 30		Disc Terms - Days: Disc Pct. (%):	30 0.00	Addendum: N Tax Rate Pct (%): 8	N/A 3.75
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product N		Quantity	Unit Price	Extension	Tax	Final
1	Oil, Motor, API SJ, Union 76, Super 5W/30, or equal, delivered in bulk (as specified in Section III, paragraph C).			"LSC"	"ROUND 5W30 AF	PTRIP SAE PI SM"	2,400 GL	\$5.13	\$12,312.00	\$1,077.30	\$13,389.30
	Response(s) to Other Requirements										
	Delivery Time: "1-2"										
	► Warranty: "YES"										
	Service Rating: "API SJ & SM"										
2	Oil, Motor, API SJ, Petro-Canada Supreme 5W/20, or equal, delivered in bulk (as specified in Section III, paragraph C).			"LSC"	"ROUND 5W20 AF	PTRIP SAE PI SM"	2,400 GL	\$5.13	\$12,312.00	\$1,077.30	\$13,389.30
	<u>Response(s) to Other Requirements</u> ► Delivery Time: "1-2"										
	► Warranty: "YES"										
	► Service Rating: "API SJ & SM"										
3	Oil, Motor, API SJ, Union 76, Super 5W/30, or equal, delivered in 55-gallon drums (as specified in Section III, paragraph C).			"LSC"	"ROUND 5W30 AF	PTRIP SAE PI SM"	660 DR	\$5.53	\$3,649.80	\$319.36	\$3,969.16
	Response(s) to Other Requirements										
	► Delivery Time: "1-2"										
	► Warranty: "YES"										
	Service Rating: "API SJ & SM"										

	ALT1 - SOUTHERN COUNTIES LUBRICANTS			Days ARC	<b>b</b> : 1-2		Disc Terms - Days:	30	Addendum: N	N/A	
	Vendor ID: ALT1-TEMP-SO			Opt To Re	enew Pct. (%): 30		Disc Pct. (%):	0.00	Tax Rate Pct (%): 8	3.75	
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Тах	Final	
4	Oil, Motor, API SJ, Petro-Canada Supreme 5W/20, or equal, delivered in 55-gallon drums (as specified in Section III, paragraph C).			"LSC"	"ROUNDTRIP SAE 5W20 API SM"	440 DR	\$5.53	\$2,433.20	\$212.91	\$2,646.11	
	Response(s) to Other Requirements										
	Delivery Time: "1-2"										
	► Warranty: "YES"										
	Service Rating: "API SJ & SM"										
5	Automated Transmission Fluid, Petro-Canada Mercon V, or equal, delivered in bulk (as specified in Section III, paragraph D).			"CHEVRON MULTI- VEHICLE ATF (COVERS DEXRON III & MERCON V"		2,400 GL	\$9.15	\$21,960.00	\$1,921.50	\$23,881.50	
	Response(s) to Other Requirements										
	Delivery Time: "1-2"										
	► Warranty: "YES"										
6	Automated Transmission Fluid, Petro-Canada Mercon V, or equal, delivered in 55-gallon drums (as specified in Section III, paragraph D).			"CHEVRON MULTI- VEHICLE ATF (COVERS DEXRON III & MERCON V"		20 DR	\$9.55	\$191.00	\$16.71	\$207.71	
	Response(s) to Other Requirements										
	► Delivery Time: "1-2"										
	► Warranty: "YES"										
				Subtota	Is for ALT1 - SOUTH	IERN COUNTIES	LUBRICANTS:	\$52,858.00	\$4,625.08	\$57,483.08	
								Miscellaneou	s Charges:	\$0.00	
									Freight:	\$0.00	
							_		•		
							Extraordina	ary Labor - 0 hours @ \$	60.00/hour:	\$0.00	
						Grand Total for	otal for ALT1 - SOUTHERN COUNTIES LUBRICANTS:				
							-	inal Driac (m/ Di-	accumt).	¢57 402 00	
							F	inal Price (w/ Dis		\$57,483.08	

<b>&gt;&gt;&gt;</b>	BUCK PETROLEUM COMPANY			Days Al	ro: 2		Disc Terms - Days:	20	Addendum: N	J/A
	Vendor ID: BUP 02358745			Opt To	Renew Pct. (%): 25		Disc Pct. (%):	1.00	Tax Rate Pct (%): 8.	.75
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Тах	Final
1	Oil, Motor, API SJ, Union 76, Super 5W/30, or equal, delivered in bulk (as specified in Section III, paragraph C).			"PETRO-CANADA"	"SUPREME 5W/30"	2,400 GL	\$6.73	\$16,152.00	\$1,413.30	\$17,565.30
	Response(s) to Other Requirements									
	Delivery Time: "2"									
	▶ Warranty: "YES (ATTACHED)"									
	► Service Rating: "API SM"									
2	Oil, Motor, API SJ, Petro-Canada Supreme 5W/20, or equal, delivered in bulk (as specified in Section III, paragraph C).			"PETRO-CANADA"	"SUPREME 5W/20"	2,400 GL	\$6.73	\$16,152.00	\$1,413.30	\$17,565.30
	Response(s) to Other Requirements									
	Delivery Time: "2"									
	Warranty: "YES (ATTACHED)"									
	Service Rating: "API SM"									
3	Oil, Motor, API SJ, Union 76, Super 5W/30, or equal, delivered in 55-gallon drums (as specified in Section III, paragraph C).			"PETRO-CANADA"	"SUPREME 5W/30"	660 DR	\$7.12	\$4,699.20	\$411.18	\$5,110.38
	Response(s) to Other Requirements									
	Delivery Time: "2"									
	► Warranty: "YES (ATTACHED)"									
	► Service Rating: "API SM"									
4	Oil, Motor, API SJ, Petro-Canada Supreme 5W/20, or equal, delivered in 55-gallon drums (as specified in Section III, paragraph C).			"PETRO-CANADA"	"SUPREME 5W/20"	440 DR	\$7.12	\$3,132.80	\$274.12	\$3,406.92
	<u>Response(s) to Other Requirements</u> ► Delivery Time: "2"									
	<ul> <li>Warranty: "YES (ATTACHED)"</li> </ul>									
	<ul> <li>Service Rating: "API SM"</li> </ul>									

	BUCK PETROLEUM COMPANY           Vendor ID:         BUP 02358745		Days ARO:2Opt To Renew Pct. (%):25				Disc Terms - Days: Disc Pct. (%):	20 1.00	Addendum: N/A Tax Rate Pct (%): 8.75	
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Tax	Final
5	Automated Transmission Fluid, Petro-Canada Mercon V, or equal, delivered in bulk (as specified in Section III, paragraph D).			"PETRO-CANADA"	"DURADRIVE MV SYNTHETIC ATF:	2,400 GL	\$9.13	\$21,912.00	\$1,917.30	\$23,829.30
	<u>Response(s) to Other Requirements</u> ► Delivery Time: "2"									
	► Warranty: "YES (ATTACHED)"									
6	Automated Transmission Fluid, Petro-Canada Mercon V, or equal, delivered in 55-gallon drums (as specified in Section III, paragraph D).			"PETRO-CANADA"	"DURADRIVE MV SYNTHETIC ATF"	20 DR	\$9.49	\$189.80	\$16.61	\$206.41
	<u>Response(s) to Other Requirements</u> ► Delivery Time: "2"									
	► Warranty: "YES (ATTACHED)"									

Subtotals for BUCK PETROLEUM COMPANY:	\$62,237.80	\$5,445.81	\$67,683.61	
	Miscellaneous	s Charges:	\$0.00	
		Freight:	\$0.00	
Extraordina	ary Labor - 0 hours @ \$	0.00/hour:	\$0.00	
Grand Total for BU	CK PETROLEUM CO	MPANY:	\$67,683.61	
Fi	inal Price (w/ Dis	count):	\$67,006.77	

<b>&gt;&gt;&gt;</b>	DION AND SONS INC Vendor ID: TEMP-DION AN				Days ARO: 2 Opt To Renew Pct. (%): "UP TO 10"		Disc Terms - Days: Disc Pct. (%):	30 0.00	Addendum: N Tax Rate Pct (%): 8.	/A 75
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Тах	Final
1	Oil, Motor, API SJ, Union 76, Super 5W/30, or equal, delivered in bulk (as specified in Section III, paragraph C).			"SHELL"	"FORMULA SHELL 5W/30"	2,400 GL	\$6.85	\$16,440.00	\$1,438.50	\$17,878.50
	Response(s) to Other Requirements									
	► Delivery Time: "2"									
	► Warranty: "YES"									
	► Service Rating: "SM"									
2	Oil, Motor, API SJ, Petro-Canada Supreme 5W/20, or equal, delivered in bulk (as specified in Section III, paragraph C).			"SHELL"	"FORMULA SHELL 5W/20"	2,400 GL	\$6.70	\$16,080.00	\$1,407.00	\$17,487.00
	Response(s) to Other Requirements									
	► Delivery Time: "2"									
	► Warranty: "YES"									
	► Service Rating: "SM"									
3	Oil, Motor, API SJ, Union 76, Super 5W/30, or equal, delivered in 55-gallon drums (as specified in Section III, paragraph C).			"SHELL"	"FORMULA SHELL 5W/30"	660 DR	\$7.45	\$4,917.00	\$430.24	\$5,347.24
	Response(s) to Other Requirements									
	► Delivery Time: "2"									
	► Warranty: "YES"									
	► Service Rating: "SM"									
4	Oil, Motor, API SJ, Petro-Canada Supreme 5W/20, or equal, delivered in 55-gallon drums (as specified in Section III, paragraph C).			"SHELL"	"FORMULA SHELL 5W/20"	440 DR	\$7.30	\$3,212.00	\$281.05	\$3,493.05
	Response(s) to Other Requirements									
	► Delivery Time: "2"									
	► Warranty: "YES"									
	Service Rating: "SM"									

	DION AND SONS INC Vendor ID: TEMP-DION AN				Days ARO: 2 Opt To Renew Pct. (%): "UP "	ГО 10"	Disc Terms - Days: Disc Pct. (%):	30 0.00	Addendum: I	N/A 3.75
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Тах	Final
5	<ul> <li>Automated Transmission Fluid, Petro-Canada Mercon V, or equal, delivered in bulk (as specified in Section III, paragraph D).</li> <li><u>Response(s) to Other Requirements</u></li> <li>▶ Delivery Time: "2"</li> <li>▶ Warranty: "YES"</li> </ul>			"SHELL"	"MULTI-VEHICLE ATF"	2,400 GL	\$8.45	\$20,280.00	\$1,774.50	\$22,054.50
6	Automated Transmission Fluid, Petro-Canada Mercon V, or equal, delivered in 55-gallon drums (as specified in Section III, paragraph D). <u>Response(s) to Other Requirements</u>			"SHELL"	"MULTI-VEHICLE ATF"	20 DR	\$9.05	\$181.00	\$15.84	\$196.84
	<ul> <li>Delivery Time: "2"</li> <li>Warranty: "YES"</li> </ul>									

3	\$66,457.13	\$5,347.13	\$61,110.00	Subtotals for DION AND SONS INC:
00	\$0.0	ous Charges:	Miscellane	
00	\$0.0	Freight:		
00	\$0.0	2 \$0.00/hour:	nary Labor - 0 hours @	Extraordin
3	\$66,457.1	SONS INC:	tal for DION AND	Grand Tot
3	\$66,457.13	Discount):	Final Price (w/ D	F

<b>&gt;&gt;&gt;</b>	GENERAL PETROLEUM CORP Vendor ID: TEMP-GENERAL				s ARO: 1 TO 2 To Renew Pct. (%): 10		Disc Terms - Days: Disc Pct. (%):	30 0.00	Addendum: N Tax Rate Pct (%): 8.	/A 75
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Тах	Final
1	Oil, Motor, API SJ, Union 76, Super 5W/30, or equal, delivered in bulk (as specified in Section III, paragraph C).			"GENERAL PETROLEUM"	"PERFORMANCE 500"	2,400 GL	\$5.74	\$13,776.00	\$1,205.40	\$14,981.40
	Response(s) to Other Requirements									
	► Delivery Time: "1 TO 2"									
	Warranty: "STATEMENT ENCLOSED"									
	► Service Rating: "API"									
2	Oil, Motor, API SJ, Petro-Canada Supreme 5W/20, or equal, delivered in bulk (as specified in Section III, paragraph C).			"GENERAL PETROLEUM"	"PERFORMANCE 500"	2,400 GL	\$5.64	\$13,536.00	\$1,184.40	\$14,720.40
	Response(s) to Other Requirements									
	Delivery Time: "1 TO 2"									
	Warranty: "STATEMENT ENCLOSED"									
	► Service Rating: "API / SJSM"									
3	Oil, Motor, API SJ, Union 76, Super 5W/30, or equal, delivered in 55-gallon drums (as specified in Section III, paragraph C).			"GENERAL PETROLEUM"	"PERFORMANCE 500"	660 DR	\$6.14	\$4,052.40	\$354.59	\$4,406.99
	Response(s) to Other Requirements									
	► Delivery Time: "1 TO 2"									
	Warranty: "STATEMENT ENCLOSED"									
	► Service Rating: "API SJ/SM"									
4	Oil, Motor, API SJ, Petro-Canada Supreme 5W/20, or equal, delivered in 55-gallon drums (as specified in Section III, paragraph C).			"GENERAL PETROLEUM"	"PERFORMANCE 500"	440 DR	\$6.04	\$2,657.60	\$232.54	\$2,890.14
	<u>Response(s) to Other Requirements</u> ► Delivery Time: "1 TO 2"									
	Warranty: "STATEMENT ENCLOSED"									
	Service Rating: "API SJ/SM"									

	GENERAL PETROLEUM CORP Vendor ID: TEMP-GENERAL	Days ARO:         1 TO 2           Opt To Renew Pct. (%):         10					Disc Terms - Days:         30           Disc Pct. (%):         0.00			N/A 8.75	
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product	Number	Quantity	Unit Price	Extension	Тах	Final
5	Automated Transmission Fluid, Petro-Canada Mercon V, or equal, delivered in bulk (as specified in Section III, paragraph D).			"GENERAL PETROLEUM"		-VEHICLE ATF:	2,400 GL	\$9.39	\$22,536.00	\$1,971.90	\$24,507.90
	Response(s) to Other Requirements										
	Delivery Time: "1 TO 2"										
	► Warranty: "STATEMENT ENCLOSED"										
6	Automated Transmission Fluid, Petro-Canada Mercon V, or equal, delivered in 55-gallon drums (as specified in Section III, paragraph D).			"GENERAL PETROLEUM"	-	-VEHICLE ATF"	20 DR	\$9.79	\$195.80	\$17.13	\$212.93
	Response(s) to Other Requirements										
	Delivery Time: "1 TO 2"										
	Warranty: "STATEMENT ENCLOSED:										

\$61,719.76	\$4,965.96	\$56,753.80	Subtotals for GENERAL PETROLEUM CORP:
\$0.00	us Charges:	Miscellaneou	
\$0.00	Freight:		
\$0.00	\$0.00/hour:	ry Labor - 0 hours @ \$	Extraordina
\$61,719.76	IM CORP:	ENERAL PETROLEU	Grand Total for GE
\$61,719.76	scount):	nal Price (w/ Dis	Fi

<b>&gt;&gt;&gt;</b>	NATIONAL PETROLEUM CO Vendor ID: NPC 01758366			Days A Opt To	RO: "TWO" Renew Pct. (%): 30		Disc Terms - Days: Disc Pct. (%):	30 0.00	Addendum: N. Tax Rate Pct (%): 8.	//A 75
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Тах	Final
1	Oil, Motor, API SJ, Union 76, Super 5W/30, or equal, delivered in bulk (as specified in Section III, paragraph C).			"CAM2 INTERNATIONAL"	"SUPER PRO PLUS"	2,400 GL	\$5.45	\$13,080.00	\$1,144.50	\$14,224.50
	Response(s) to Other Requirements									
	► Delivery Time: "TWO"									
	► Warranty: "MANUFACTURER'S"									
	► Service Rating: "SM GF-4"									
2	Oil, Motor, API SJ, Petro-Canada Supreme 5W/20, or equal, delivered in bulk (as specified in Section III, paragraph C).			"CAM2 INTERNATIONAL"	"SUPER PRO PLUS"	2,400 GL	\$5.55	\$13,320.00	\$1,165.50	\$14,485.50
	Response(s) to Other Requirements									
	► Delivery Time: "TWO"									
	► Warranty: "MANUFACTURER'S"									
	► Service Rating: "SM GF-4"									
3	Oil, Motor, API SJ, Union 76, Super 5W/30, or equal, delivered in 55-gallon drums (as specified in Section III, paragraph C).			"CAM2 INTERNATIONAL"	"SUPER PRO PLUS"	660 DR	\$5.85	\$3,861.00	\$337.84	\$4,198.84
	Response(s) to Other Requirements									
	► Delivery Time: "TWO"									
	► Warranty: "MANUFACTURER'S"									
	► Service Rating: "SM GF-4"									
4	Oil, Motor, API SJ, Petro-Canada Supreme 5W/20, or equal, delivered in 55-gallon drums (as specified in Section III, paragraph C).			"CAM2 INTERNATIONAL"	"SUPER PRO PLUS"	440 DR	\$5.95	\$2,618.00	\$229.08	\$2,847.08
	Response(s) to Other Requirements									
	Delivery Time: "TWO"									
	► Warranty: "MANUFACTURER'S"									
	Service Rating: "SM GF-4"									

	NATIONAL PETROLEUM CO Vendor ID: NPC 01758366				Days ARO: Opt To Renew Pct. (%)	"TWO" : 30		Disc Terms - Days: Disc Pct. (%):	30 0.00	Addendum: N Tax Rate Pct (%): 8	V/A .75
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product N	lumber	Quantity	Unit Price	Extension	Тах	Final
5	Automated Transmission Fluid, Petro-Canada Mercon V, or equal, delivered in bulk (as specified in Section III, paragraph D).			"CONOCO"	"ATF ME	RCONV"	2,400 GL	\$8.83	\$21,192.00	\$1,854.30	\$23,046.30
	Response(s) to Other Requirements										
	Delivery Time: "TWO"										
	► Warranty: "MANUFACTURER'S"										
6	Automated Transmission Fluid, Petro-Canada Mercon V, or equal, delivered in 55-gallon drums (as specified in Section III, paragraph D).			"CONOCO"	"MERCO	N V ATF:	20 DR	\$9.23	\$184.60	\$16.15	\$200.75
	Response(s) to Other Requirements										
	► Delivery Time: "TWO"										
	Warranty: "MANUFACTURER'S'										

\$59,002.97	\$4,747.3	\$54,255.60	Subtotals for NATIONAL PETROLEUM CO:
\$0.00	eous Charges:	Miscellaneo	
\$0.00	Freight:		
\$0.00	@ \$0.00/hour:	nary Labor - 0 hours @	Extraordin
\$59,002.97	OLEUM CO:	NATIONAL PETRO	Grand Total for
\$59,002.97	Discount):	Final Price (w/ Di	F

•••	NORTH AMERICAN LUBRICANTS Vendor ID: TEMP-NORTH A				Days ARO: 3 Opt To Renew Pct. (%): 15		Disc Terms - Days: Disc Pct. (%):	30 0.00	Addendum: 1 Tax Rate Pct (%): 8	J/A 9.75
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Тах	Final
1	Oil, Motor, API SJ, Union 76, Super 5W/30, or equal, delivered in bulk (as specified in Section III, paragraph C).			"NAL"	"PURE GREEN SUPREME 5W30"	2,400 GL	\$5.61	\$13,464.00	\$1,178.10	\$14,642.10
	Response(s) to Other Requirements									
	► Delivery Time: "3"									
	► Warranty: NN									
	► Service Rating: "SM"									
2	Oil, Motor, API SJ, Petro-Canada Supreme 5W/20, or equal, delivered in bulk (as specified in Section III, paragraph C).			"NAL"	"PURE GREEN SUPREME 5W20"	2,400 GL	\$5.61	\$13,464.00	\$1,178.10	\$14,642.10
	Response(s) to Other Requirements									
	► Delivery Time: "3"									
	► Warranty: NN									
	► Service Rating: "SM"									
3	Oil, Motor, API SJ, Union 76, Super 5W/30, or equal, delivered in 55-gallon drums (as specified in Section III, paragraph C).			"NAL"	"PURE GREEN SUPREME 5W30"	660 DR	\$6.26	\$4,131.60	\$361.52	\$4,493.12
	Response(s) to Other Requirements									
	► Delivery Time: NN									
	► Warranty: NN									
	► Service Rating: "SM"									
4	Oil, Motor, API SJ, Petro-Canada Supreme 5W/20, or equal, delivered in 55-gallon drums (as specified in Section III, paragraph C).			"NAL"	"PURE GREEN SUPREME 5W20"	440 DR	\$6.26	\$2,754.40	\$241.01	\$2,995.41
	Response(s) to Other Requirements									
	► Delivery Time: "3"									
	► Warranty:									
	► Service Rating: "SM"									

	NORTH AMERICAN LUBRICANTS				Days ARO: 3		Disc Terms - Days:	30	Addendum: N	N/A
	Vendor ID: TEMP-NORTH A				Opt To Renew Pct. (%): 15		Disc Pct. (%):	0.00	Tax Rate Pct (%):	3.75
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Тах	Final
5	Automated Transmission Fluid, Petro-Canada Mercon V, or equal, delivered in bulk (as specified in Section III, paragraph D).			"NAL"	"PURATECH MULTI- VEHICLE SYNBLEND ATF"	2,400 GL	\$8.06	\$19,344.00	\$1,692.60	\$21,036.60
	Response(s) to Other Requirements									
	► Delivery Time: "3"									
	► Warranty: NN									
6	Automated Transmission Fluid, Petro-Canada Mercon V, or equal, delivered in 55-gallon drums (as specified in Section III, paragraph D).			"NAL"	"PURATECH MULTI- VEHICLE SYN BLEND ATF"	20 DR	\$8.71	\$174.20	\$15.24	\$189.44
	Response(s) to Other Requirements									
	► Delivery Time: "3"									
	► Warranty: NN									
					Subtatals for NO			\$52 222 20	\$4 666 57	¢57 009 77

\$57,998.77	\$4,666.57	\$53,332.20	Subtotals for NORTH AMERICAN LUBRICANTS:
\$0.00	s Charges:	Miscellaneous	
\$0.00	Freight:		
\$0.00	0.00/hour:	ary Labor - 0 hours @ \$	Extraordinary
\$57,998.77	ICANTS:	H AMERICAN LUBR	Grand Total for NORTH
\$57,998.77	count):	inal Price (w/ Dis	Fin

<b>&gt;&gt;&gt;</b>	SOUTHERN COUNTIES LUBRICANTS Vendor ID: TEMP-SOUTHER				Days ARO:         1-2           Opt To Renew Pct. (%):         30		Disc Terms - Days: Disc Pct. (%):	30 0.00	Addendum: N Tax Rate Pct (%): 8	//A .75
Item No.	Item Description	Stock Number	NB NR	Manufacturer	Product Number	Quantity	Unit Price	Extension	Тах	Final
1	Oil, Motor, API SJ, Union 76, Super 5W/30, or equal, delivered in bulk (as specified in Section III, paragraph C).			"LSC"	"ROUNDTRIP SA 5W30 API SM"	AE 2,400 GL	\$5.13	\$12,312.00	\$1,077.30	\$13,389.30
	Response(s) to Other Requirements									
	► Delivery Time: "1-2"									
	► Warranty: "YES"									
	Service Rating: "API SJ & SM"									
2	Oil, Motor, API SJ, Petro-Canada Supreme 5W/20, or equal, delivered in bulk (as specified in Section III, paragraph C).			"LSC"	"ROUNDTRIP SA 5W20 API SM"	AE 2,400 GL	\$5.13	\$12,312.00	\$1,077.30	\$13,389.30
	Response(s) to Other Requirements									
	► Delivery Time: "1-2"									
	► Warranty: "YES"									
	► Service Rating: "API SJ & SM"									
3	Oil, Motor, API SJ, Union 76, Super 5W/30, or equal, delivered in 55-gallon drums (as specified in Section III, paragraph C).			"LSC"	"ROUNDTRIP S/ 5W30 API SM"	AE 660 DR	\$5.53	\$3,649.80	\$319.36	\$3,969.16
	Response(s) to Other Requirements									
	► Delivery Time: "1-2"									
	► Warranty: "YES"									
	► Service Rating: "API SJ & SM"									
4	Oil, Motor, API SJ, Petro-Canada Supreme 5W/20, or equal, delivered in 55-gallon drums (as specified in Section III, paragraph C).			"LSC"	"ROUNDTRIP S/ 5W20 API SM"	AE 440 DR	\$5.53	\$2,433.20	\$212.91	\$2,646.11
	Response(s) to Other Requirements									
	► Delivery Time: "1-2"									
	► Warranty: "YES"									
	Service Rating: "API SJ & SM"									

	SOUTHERN COUNTIES LUBRICANTS Vendor ID: TEMP-SOUTHER			Days ARO:         1-2           Opt To Renew Pct. (%):         30		Disc Terms - Days: Disc Pct. (%):	30 0.00	Addendum: N Tax Rate Pct (%): 8	I/A .75
Item No.	Item Description	Stock Number	NB NR Manufacturer	Product Number	Quantity	Unit Price	Extension	Тах	Final
5	Automated Transmission Fluid, Petro-Canada Mercon V, or equal, delivered in bulk (as specified in Section III, paragraph D).		. "LSC"	"ROUNDTRIP ATF DEXRON III"	2,400 GL	\$5.13	\$12,312.00	\$1,077.30	\$13,389.30
	Response(s) to Other Requirements								
	Delivery Time: "1-2"								
	► Warranty: "YES"								
6	Automated Transmission Fluid, Petro-Canada Mercon V, or equal, delivered in 55-gallon drums (as specified in Section III, paragraph D).		. "LSC"	"ROUNDTRIP ATF DEXRON III"	20 DR	\$5.53	\$110.60	\$9.68	\$120.28
	Response(s) to Other Requirements								
	► Delivery Time: "1-2"								
	► Warranty: "YES"								

Subtotals for SOUTHERN COUNTIES LUBRICANTS:	\$43,129.60	\$3,773.85	\$46,903.45	
	Miscellaneous	Charges:	\$0.00	
		Freight:	\$0.00	
Extraordinary	.00/hour:	\$0.00		
Grand Total for SOUTHERN	CANTS:	\$46,903.45		
Fin	al Price (w/ Disc	count):	\$46,903.45	